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1. Please’ correctly fill your Roll- Number..in. O.M:.R.:Sheet.
Candidate will themself be responsible: for: filling wrong
Roll No:

2. - At the start of the examination before attempting the question
paper kindly check your test booklet and OMR Answer Sheet
and ensure that :

*.The serial numbers of test booklet: and OMR: answer sheet

are same. .

All pages of test booklet and OMR answer sheet are properly

printed. ‘All: questions: from: S:No..:1 to last S.No. 150 are

printed: and pages from S.No. 1 to last:S. No. 24 are there
in the question booklet.

In: case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booklet and OMR answer sheet. No claim./ objection in
this: regard will be entertained after: five minutes: of start. of
examination. Candidate will be liable: for it.

3. Answer all questions:

All questions: carry equal marks.

Only one answer- is to be given for each:question.

If more than one answers are marked, it would be treated as

wrong answer. .

7. Each question has four alternative responses marked serially
as (A); (B), (C), (D). You: have: to darken only. one circle or
bubble indicating the correct answer on the Answer Sheet
using: BLUE BALL POINT PEN.

8. 1/3 part of the mark(s):of each question: will be deducted for
each  wrong answer. (A:wrong answer means an incorrect
answer or more than one:answers. for any question).

9. Use of Mobile Phone/Bluetooth Devices  or ‘any other

electronic gadget in the examination hall is strictly prohibited.

If any: such: prohibited :material found: with:-any- candidate,

strict action will be taken: against him/her as:per rule.

If there is any:sort of ambiguity/mistake: either of printing or

factual nature in Hindi and English Version of the question,

the English Version: will be treated as standard,

Warning : If a candidate is found: copying or if any unauthorized

material‘is found:in his/her possession; F.|.R. would: be lodged

against him/her.in the Police Station and he/she would liable to
be prosecuted under Section 3 of the State Prevention of Unfair
means Act, 1992 and Board Regulations. Board may: also debar
him/her permanently from all future examination: of the Board.
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A thick fleshy grows horizontally, having
dry scale leaves, terminal buds,
adventitious roots called as -

(A) Bulb (B) Corm

(C) Tuber (D) Rhizome

um et R e e fred e

ferdere uftrar, s wfrer, sty |

T B, hEAwEr T -
A) T (B) =
(C) =ut (D) TEEm

Genes which code for a pair of contrasting
traits are known as -

(A) Alleles (B) Filials

(C) Hybrids (D) Progenies

S St frdi waro % wam ¥, seemy
T

(A) ol
(C) "ax

- (B) fsferom
(D) Hifai

Sex determination in human beings is
based on method. ,
e Sy ¥ R frafor few R wr
st & 7

(A) XO
(©) XX-XY

B) XX
(D) ZW

A food chain always starts with -
(A) Excretion L
(B) Digestion

(C) Photosynthesis
(D) Respiration
% O q@dr gder yow Bl ¥ -
(A) I&e |

(B) Srasimer |

(C) Wy HoAWT
D) T87 §

What are the symptoms of Rh disease ?
(A) Fast heart rate

(B) Lack of energy

(C) Large abdomen

(D) All of these

Rh T & 27 warr & 7 ,

(A) 99 T=T TR (B) ot @ o

© asj.ﬁz D) T wff
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2

The two chains of a DNA molecule are
bound by their nitrogenous bases to each

other by a ____ bond,

(A) Ionic
© Sulphide

(B) Covalent
(D) Hydrogen

BT o F EN SERRCEE S o)

TR &, 2T e T @ T N
¥ ? (@ INDIRESULTE

(A) azmﬁagg (8" 1
(C) wvwrse

The branch of science that deals with the
environment is called -

(A) Taxonomy (B) Ecology

(C) Genetics (D) Morphology
fomm @ fow s % sieria vl &
HETT frar W ¥ 2

(A) afifer (B) uiftRafeedy

(C) srgeifiasr (D) smwerfya |

Deficiency of Red Blood Cells in the
body is known as - '

(A) Glycemia

(B) Lipidemia

(©) Anemia

(D) Thrombocytopenia *

TR ¥ T s whmmel = w0 a5
HEd ¥ —

(A) i

(B) ffifsfira

(©) wfrPrr

(D) ursrarzerdifrar
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‘Watson and Crick proposed the model of

DNA in - A
I T f5e 3 forw, F Aiew B
weta faar — |

(A) 1953 & (B) 1963 ®

(C) 1973 § D) 1959 §
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The dark coloured amorphous substance
that is highly resistant to microbial action
and undergoes decomposition at an
extremely slow rate is called

(A) leachate (B) detritus

(C) humus (D) decomposer

T T T % W@eH 9wl W %
Qi fr % frg osr wRead g
¥ ofR 3T orqged Sga o iR @ awa
¥ weEeRm T

(A) Treferas . (B) 9TUXE

© T4 (D) gacaHh

'GMO' is -

(A) Genetically Mutant Organism
(B) Genetically Modern Organism
(C) Genetically Modified Organism
(D) Genetically Mixed Organism
e ¥ -

(A) engailies @@ S|

(B) orgdifis emygfn S

(C) o BU@Rd S

(D) sgaitye Ml S|

Which of the following disease is caused
by a bacterium ?

(A) Polio (B) Haemophilia

(C) Typhoid (D) Filariasis

e & § FA-T1 U Shar] & B § 7
(A) wiferdt (By ST

(C) T®as (D) WA

Which hormone deficiency in the body
causes diabetes ?

(A) Thyroxine
(C) Adrenaline

(B) Insulin
(D) All of these

srﬁxﬁﬁwmﬁa%aﬁr@mgﬁzm
T 7

(A) g (B) sgfa
(C)q%wﬁvrvr (D) & Th
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Who trap the maximum sun energy ?

(A) GrasSes' (B) Trees
(C) Algae (D) Animals
foperes aTCT Stftrera T 1 WE9T @l Sl
T ?
) T ®) 37
(C) S (D) g

Which of the following is the example of
physical change ?

(A) Tearing of paper

(B) Cutting of trees

(C) Freezing of water

(D) All of the given options
e & @ B a1 Wifow afeR & SeEr

¥?

(A) BTN H HAT
(B) U ® &I
(C) 5@ &1 §% s
(D) & ™ ol fesed

Starch - Iodide paper is used for -
(A) detection of oxidising agent

(B) detection of reducing agent

(C) detection of I,

(D) detection of starch

" - SasEs U @ Iuan e vnar
T -

(A) frdl erieRs & afve & e
(B) e oruurme & eifwsmw &
©C) L% afemT % fog

(D) = &% afwm ¥ fg
indiresult.in whatsapp - 9352018749
When CO, is passed through 11me water,
lime water becomes

(A) milky (B) silvery

(C) shiny (D) golden yellow
o ¥ w ¥ CO, wEE wW W, T
gl S ¥ -

(A) i (B) 9§t & 1 =
(C) =bieT (D) gT&U e
[PT.O.
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When a catalyst is used in a chemical
reaction, then -

(A) Amount of product gets affected
(B) Activation energy gets affected
(C) Amount of substrate gets affected
(D) Enthalpy of the reaction gets affected
19 gt sthiear § seite wgw R
IR

(A) SO @ W gk B

(B) uftbawr Tut yafm &1 &

(©) Tz & "y sk &

(D) sfufsear &1 ardrr enfar wanfag B
T

In Haber process, bonds between ammonia

and iron surface weaken and break during

(A) adsorption

(B) chemisorption
(C) both (A) and (B)
(D) desorption

ﬁw%rf@aﬁmm%sam%mm
4 it ot W' (Feo) %) aqe % 9
§Y N UsAOr ¥ ug zEar ¥ 7

(A) tfysmyer

(B) HrasiSor

(©) (A) T (B) 3t

(D) fasiraor

When we move from top to down in
Periodic table, size of alkali metals -

(A) Increases

(B) Decreases

(C) No change

(D) Either increases or decreases

g #ad "ol ¥ s g 99 8 ain
aﬁ%ﬁma@ﬁmm—

(A) sgar ¥

(B) = ®ar ¥

(©) ®5 ufads 78 ar &
(D)ma‘rm%mms}m%
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Which is an example of thermosetting
polymer ?

(A) Polythene (B) PVC

(C) Bakelite (D) Neoprene

DN YT SAEXT AT qges @ X7
(A) difede (B) Uit

€ gz (D) P

IUPAC name of

HC = C - CH,- CH = CH, is -
(A) Pent - 1 - en - 4 - yne

(B) Pent - 1 - yne - 4 - ene
(C) Pent - 2 - yne - 4 - ene
(D) None of these
difiles HC = C - CH, - CH = - CH, %
IUPAC 7% % -
(A)ﬁ’vz-l-éﬁ-4-aﬂs=r
B)UT-1-om5-4-%

O U=-2-am7-4-%
D) ™ ¥ B T

} indiresult.in whatsapp - 9352018749
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Select the aromatic compound.

WAt difs & waw A |

@ @ . ® @
® @
| SF
ViQly

24  CFCs are chemically very stable because

they contain no

(A H (B) Br

© C (D) All of these
CFC Tmafe &9 ¥ oftes @y 8 ¥,
e T E o ¥ -

(A) H (B) Br

©) Cl D) T i

[PTO.
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25 Chemical formula of Plaster of Paris is—

“RY TE IR @ TEEbe g ¥
(A) CaSO,.2H,0

(B) (CaSOy). %—HZO

(C) Ca(NO3),
(D) Ca3 (PO4)2

26 Which of the following statements is
incorrect for the solution of alkali metals
in ammonia ?

(A) Colour of the solution is blue

(B) Diamagnetic in nature

(C) Conducts electricity

(D) Alkali metals are soluble in ammonia
AR argel % omfrm ¥ R ¥ R
e % B W Bu omd ¥

(A) femm & o1 Aem g ¥

(B) Wi witrgaaa &ril ¥

() fogmuro vata ww@

(D) & e s ¥ e o §

27 'The substance whith on heatlng with-
chlorine, yields bleaching powder is —

(A) quicklime (B) slaked lime

(C) limestone (D) gypsum
HAE TG T & W W FE W
AT TrEast dar § 7

&) @E T (B) T TN

© TR (D) frwm

28 Major constituent of natural gas is
(A) Ethane (B) Methane
(C) Butane (D) Propane
Tois 9 B I WRE ¥ -
(A) T  (B) W
© = (D)

m14  (@NDIRESULTE s
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When several I‘eSlStOI‘ 5f different values
are combined in parallel and connected
across a battery, then the current flowing
in different resistors and potential
difference across their ends,

(A) will be different for different resistors.
(B) will be the same for all the resistors.

~ (C) the value of current will be same but

potential difference will be different
across different resistors.

(D) the value of current will be different
but potential difference will be same
for all the resistors.

= A= &% &3 wfadel o e B

A Wedt 5% O ¥ sip W Rt

wierrel A waifed 1M Al 9T W@ I

R & 9w e,

(A) fafr= wire & o f—fe i

B) &+t wfe sl & o wam B

(C) 9T &1 A 9 BT Wie fafre
gl % R & gem Rrvawar
- gm

(D). 8T @1 9 f=-fa= 2w wfe wf

wferie 3 ford et wwere )
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The essential difference between an AC
generator and a DC generator is that
(A) AC generator has an electromagnet
while DC generator has permanent
magnet.
(B) DC generator generates a higher
voltage.

(C) AC generator generates a hlgher

voltage.
(D) AC generator has slip rings while
DC generator has a commutator.

Teh WRTERdT ST Wi SR e e st
¥ ge@qt X ¥ ¢

(A) vETEdt gt st ¥ uw R g

BT ¥ wiefe foe g it A
W gEs Bl B

(B) e urr witEr Swav A s@=
HLT T |

(C) waradl gy Wiy Sea  dieear
Iq HIT B | "

(D) varERt g s ¥ w9l g 3N
¥ vwafs e aq wfe 4
Rafads s |
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If a 100 watts bulb is used for 10 hours,
then the amount of consumed electricity
will be -
(A) 100 Watts
(B) 100 Watts per hour

- (C) 1000 Watts (1 KW)
(D) 1 KWh (= 1 unit of electricity)
af€ 100 afe 1 qoq 10 9 FW ¥ R
T ¥, @ ot @ W @ @ B
(A) 100 gie
(B) 100 qte wfy e
(C) 1000 gz (1 KW)

(D) 1 KWh (= 1 3%t frga)

A person is six feet tall. The minimum

31

32

~ height of a vertical mirror for viewing his

entire length in the mirror is -

A) 6 fi (B) 45 fi

©75ft (D)3

U iR ®H TWE B W ¥ 3 s

U gl gdu 7 Y@ ¥ fog e

9 @ e S ¥ -
(A) 6 Bz (B) 4.5 @
(C) 7.5 Wiz (D) 3 Wiz
33 A far sighted person can read a book kept
at usual distance by looking through a pin
hole, because while looking through the
pin hole :
(A) The focal length of eye lens is
‘decreased.
(B) The focal length of eye lens is
~increased.
(C) It acts like convex lens.
(D) It acts like concave lens.

TH I g | iRt At ww qe g |

I Tl T e Wt uw g fow W Q

UG FEA §, e g By ¥ 3@ w

(A)%Br?ma%u%‘ramiﬁmﬁw
Tl

(B) 7 G B Hwd g TF W 3 |

(C) 9% ush SUd &9 @ A HW BT
T

(D)%@mﬁmaﬁwmm

23] e (Jﬁ
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Work done 1n arryfx;g a 2 Coulomb

r-charge in a circular orbit of radius 3 m
“around a charge of 10 Coulomb is :
“(A) Zero (B) 6.66

—(C) 15 7] D) 160 J

T 2 T &N B 10 FEAH AT %
At §iR 3 W B % us g g
REE fhe B o | B B |

(A) = (B) 6.66 S
L.(0) 15 @ (D) 160 S

34

In an a.c. electric motor, the direction of
”_’current in the coil changes once in every:

(A) two rotations of the coil
_ (B) one rotation of the coil
__(C) half rotation of the coil
- ID) one-fourth rotation of the coil
; fruma%ﬁanasawam%wvﬁ ‘

~ ‘indiresult.in whatsapp - 9352018749
36 - The phenomenon in which changing
magnetic field in a'conductor produces

. induced current in another conductor, is

~called :

< (A) magnetic effect

—(B) electric effect

(C) thermoelectric effect

: - (D) electromagnetic induction

%qﬁmﬁvﬁm@mﬁw
W HT@T ¥, weArd ¥

[PT.O.
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~ lens (magnifying glass), where should the

| (B) Near to the lens

(B) &9 & HoEIS

indiresult.in whatsapp - 9352018749

Dry cell is a type of : 40

(A) primary cell
(B) secondary cell
(C) lead-acid cell
(D) nickel-iron cell

I qq TH dE B ¢
(A) Al @ T

(B) ¥Hvsl T ¥ | 41

(C) de-frs d@ ¥ |

Charge on an electron is

T TOEA UL ST ¥

(B) — 1.6 x 1071° Coulomb / W
(C) + 1.9 x 10716 Coulomb / FAT®
(D) - 1.9 x 10716 Coulomb / F&a™

For using a convex lens as magnifying

object be placed ?

(A) At the pr1n01pal focus

(D) Any where

T Iq0 A B AIHH
Nem) & wY H STET B
@ HE @ W &7

(A) J&1 wiHE T

o &
1

(C) f2 9T (=t f = Mwﬁm@%)
(D)a?é’r%ﬁ

uuuuuuuuuuuuuuuuuu

23] = OINDIRESULTE 7

per(Master)

43

@) NoiresuLTE
Which of the following colours suffers
maximum deviation in a prism ?

(A) Yellow (B) Blue

(C) Green (D) Orange

s foron ® freifafla & @ s 1 999
aiftren fafa grar & 7

(A) e (B) e

(C) = (D) AT

A light ray strikes a reflective plane
surface at an angle of 56° with the
surface. The angle of reflection will be
YRyl S T fRTOT T §9dd Hag WX
g & WA 56° F HT YT R sl
¥ gET HOT B AW B

(A) 34° (B) 56°

(C) 68° (D) 90°

An object is first placed at a distance
24 cm from the lens and then at a distance
of 16 cm from the lens. The magnification
of the image formed is same in both the
cases. The focal length of the lens is -

(A) 22 cm (B) 18 cm
(C) 20 cm (D) 8 cm
waﬁmwﬁmémﬁﬁraﬁw
9, 80X 39% SUR @ § 16 991 T
@ o ¥ a9 & Rufet A wg &
gflre &1 sEd g9 ¥ | @ B Bl

W E -
(A) 22 & (B) 18 ¥
(C) 20 (D) 8 @+t

indiresult.in whatsapp - 9352018749
. ports are also known as COM

port.
(A) Parallel (B) Serial
©) IU—45 (D) RJ-11

o B wME (COM) U & plit
g N 9 oS ®

(A) T

(B) difema

(C) RJ-45 (JMTT.—45)

(D) RJ-11 (TRJ.~11)

[PT.O.
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44 The first Indian web browser developed

45

46

47
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for Indian users -

(A) Google Chrome

(B) Mozilla

(C) Internet Explorer

(D) Epic

WK Sudmwarel & fe Fftfe gem
W 99 gEET -
(A) T

(B) #ifae

(C) TR TRWT

(D) Tl

Which one is not a database management
software ?

BHE-T1 T TR fﬁaﬁw ArFeIaT e
g 2

(A) Oracle
(C) MySQL

(B) Drupal
(D) MS Access

is a global address used to locate
resources on the internet.

W%%WW(@H)%m‘rs'zﬁz
T GO B 9 WU % fee suEm
fopmn wmar ¥
(A) HTTP
(C) HTML

(B) URL
(D) XML

is a low earth orbit satellite
constellation for satellite phone and low-
speed data communications.

(A) Globalstar (B) Meridian

(C) Bridgeway (D) Leosat

SUME BT T HH-TIT AR F fag
gl & e ®am Suue qEs ¥
(A) WRERR  (B) TR |
(D) fweide
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48

49

50

(-'f// INDIRESULTE

IRS series satelhte are used for -

(A) Forestry

(B) Education

(C) Remote sensing

(D) Astronomy

.U, dE SwE ____ % faw
SR fear S ¥ 1

(A) =Ty

B) farar

- (C) ggT "I

(D) @

is known as father of Indian
space programme.

(A) Rama K. Sarabhai

(B) Vikram Ambalal Sarabhai

(C) Krishnaswamy Ranga

(D) G. Madhavan Nair

B WA Sfaftd srimT & R
FEd ¥ | ,_

(A) THT . |IRMTE

(B) fompw ovameer |

(C) FwmErt m

(D) S, wrges

X
indiresult.in whatsapp - 9352018749

Full form of GAGAN (a satellite of

ISRO) is -

(A) GIS Aided Geo Augmented Network

(B) GIS Aided Geo Augmented
Navigation

(C) GPS Aided Geo Augmented Network

- (D) GPS Aided Geo Augmented

Navigation

T (590 B TH IUWE) B Oof quT -

(A) Sh.omd.uy. s fr wafia (afmiite)
A V

(B) Si.oTE.ug. w3s R daftia (aitmids)
Aferee

(C) Sh.di.ug. uss foa daftfa (SHe)
Aeah :

(D) SN.91.Tg. use R daitia (smmies)
RICUE

[P.T.O.
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51 In which district of Rajasthan is the

Indraprashtha Industrial Area located ?

(A) Jhalawar |

(B) Kota

(C) Bundi

(D) Chittorgarh

o & e e ® ssry oeife

& fag ¥ 7

(A) HETES

(B) BrT

© g
(D) FrdeTe

52 Rajasthan is the sole producer of
in the country.
(A) gold, silver and granite
(B) tungsten
(C) jasper, lead and zinc and wollastonite
(D) none of these

T 391 o BT THAE SIEH
Tl

(A) T, ar«?raﬁrm

(B) 3=H
(C)ﬁm'eﬁmaﬂ"(mamm
(D) T ¥ By T

53 What is the limit of investment in plant
and machineries for a small enterprise ?

(A) T 25 lakh to ¥ 5 crore
(B) T 10 lakh to ¥ 2 crore
(C) T 5 lakh to ¥ 2 crore
(D) X 2 lakh to I 1 crore

WY IHH % g wre ofi wslFd # Freg
Eafsio i do s i e

A)T25 7@ | T 5 HUS
B)X 10 @ ¥ T 2 U
©Ts5d@ T T2 BUS
OZT2v@ 3T 1 &0

a4 @WomEsuTe

aper(Master)
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In which hydro “®fctricity project, the

Government of Rajasthan has entered in
the partnership with neighbouring States?

(A) Bhakra Nangal Project

(B) Chambal Project

(C) Beas Project

(D) All of the given options

fore ST fergge afvaisT # TS Wi
q TS T % WY gEli @l e
(A) WIGST A wfedrer

(B) Tl giydier

(C) =@ wfEE

(D) & ™ w4l faeew

What is the main function of Rajasthan
Rajya Vidyut Utpadan Nigam Ltd. ?

(A) Development of power projects under
State sector.

~ (B) Operation and maintenance of State

power stations.
(C) Both (A) and (B)
(D) Neither (A) nor (B)
o™ Uy e Saa frm fa. @
T FE ;M §7
(A) Tt &3 ¥ gfw afEsEel @

e BT |
indiresult.in whatsapp - 9352018749
(B) ¥l @iftd & R
fhaTeaas 9 due HE |
(©) (A) 3T (B)
(D) T (A) X 7T & (B)
[PT.O.
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(D) Battle of Gogunda

(A) TREE W gE

indiresult.in whatsapp - 9352018749
Which of the following ruling dynasty of
Rajasthan belongs to the Yadava dynasty‘?
(A) Rathore

(B) Slsodlya

(C) Kachhawaha

(D) Bhati

frefaiga & § T @ @ s
Ay, URY ey § wethm ¥7
(A) TR

(B) i

(C) westErT

(D) W

Who was the founder of Ajmer Clty ?
(A) Arnoraj

(B) Ajayraj

(C) Ajaypal

(D) Prithviraj I

ST 9TET T TRUUS @H a 7
(A) st

(B) ASITS

(SR ERRINE

(D) JERS guH

Which one of the following battle is
called : 'the Marathon of the history of
Mewar' by colonel James Tod ?

(A) Battle of Haldighati
(B) Battle of Kumbhalgarh
(C) Battle of Diver

Fiw S 2 F P ¥ A fow gm @
Yo % hew @ A Fw ¥ 7

(B) FTETE W IS
() feax @1 g

(D) T B T
INDIRESULTE
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Through which neWleer did Vijay Singh
Pathik popularise Bijolian Peasant
Movement in India ?

(A) Pratap (B) Kesari
(C) Maratha (D) Young India
5 garaTes & WeH ¥ Rl ot

Y fysifrar fFam oo @ A ®
gitfg A 7
(A) Tag
(C) T

® wd
(D)ﬁﬂs%m‘

Where was 'Azad Morcha' constituted to
conduct the Quit India Movement ?

(A) Udaipur (B) Bikaner
(C) Jodhpur (D) Jaipur
Al &1 TS wel o oA ?
(A) ST (B) ST
(C) wiragT (D) SEYL

Who was the Maharaja of Jodhpur State
at the time of the integration of the
princely states of Rajasthan ?

(A) Ummed Singh
(B) Hanwant Singh
(C) Gaj Singh
(D) Vijay Singh :
e @ fEEdl & e & e
,‘ a‘mg'{ 5T W HENST BN 91 7
(A) g e (B) svaw R
(C) T Ris (D) foora RiE
indiresult.in whatsapp - 9352018749
Which language of Rajasthan has Marathi
influence ?
 (A) Marwari (B) Dhundhari
(C) Mewari (D) Malwi
e B R Sl ox WS AW @

oG ¥ 7
(A) TREE  (B) goRl
(D) HEEl

(C) TarEt

[PT.0.
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63 Match the correct pair -

(@) Neja (1) Bhil
(b) Indoni (2) Kalbeliya
(o) Terahtali  (3) Girasia
(d) Valar (4) Kamad

g a g A -
(a) =T (1) Hw
(b) =l (@) wEEkmEr
(c) deEawtt  (3) Prafmr
(d) =R 4) wWE

(4) (@ (1, 0) 2), (©) @, @ (3)
B) @ ) ® 6, © O @@
© @ G, ® @, © @, @
D) @ @), b (1), (©) 3). (@) (2)

Where is the main Peeth
'Nimbark' sect ?

(A)_ At Kishangarh

(B) At Salemabad

(C) At Salasar

(D) At Khedapa

T’ TEE @ ger die @t t o7
(A) Toere &

(B) goAmEE

(C) gemER A

(D) @smar ®

64 (seat) of

65  'Jhela, Jamela, Peepalpatra, Agotya' are

the ornaments of -

(A) Ear (B) Neck

(C) Hand (D) Finger

% omEe ¥ 7
(A) &1

©) &1y

(B) e

(D) st
ks %INDIRESULTE'
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(#)WoiResuLTz
—— is a traditional craft of Jaipur.
(A) Thewa work
(B) Woollen Khadi
(C) Paintings
(D) Blue Pottery .
— VU H WRrE B ¥
(A) da
(B) & @
©) ==

‘(D) =, wieht

In which year 'Bhamashah Schenie' was
launched in Rajasthan ?

. TORIN ¥ WM @eRr % wn @

68

oA P
 (A) 1995 (B) 1998
(©) 2002 (D) 2008

-Which of the following programmes was

launched in the year 2012 with the
objective to link skill training programme
with employment ?

() Employment Linked Skill Training

- Programme
(B) Regular Skill Training Programme
(C) Pradhanmantri Kaushal Vikas Yojana
(D) None of these
Prafofer & @ B wrlEn, Bom
YR FEHET B AT F Ay Sy
% 3299 R, af 2012 ¥ wrew fwr m
U ?indiresult.in whatsapp - 9352018749
(A) T figs Rew TR siom
(B) Tgex fepe T dm
(C) garrsl dig frerg dmn
(D) ¥9 & B TE

. | [ P.TO.
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Which: of the following is not true about
Mukhya Mantri Adarsh Gram Panchayat
Yojana (MAGPY) ?

(A) %‘"I"twienvisages integrated development
_ “of the selected village across multlple
' areas

(B) It.aims instilling certain values such
-as gender equality, dignity of women,
Esoc1a1 justice, spirit of community
;_serv1ce etc.

It lays focus on community
‘participation and social mobilization
of village community.

D)

69

- ©

It promotes agricultural marketing
and credit extension for marginal
"farmers

ﬁﬁﬁﬁﬁwwﬁ%?

(A) 3% Tabm et & fafter &e % @
&rcma B e B O ¥ |

(B)M@sw%mwﬁmm%@f
HHTET, Wi%maﬁa%v&m

(C) 7% TP TR bl RIS eHIRwr |
@Tmﬁmwwwﬁ%r

(D)azs'ﬁwwﬁsw%aﬁmg‘r&r&rqvﬁ
@Twmmﬁzﬁrwﬁ
%l

In v?}hri:h year the Rajasthan Panchayati
Raj Act 1953 was amended ?

WWW\WWW 1953 &t
ﬁﬁaﬂé%mﬁfmmwm?

70

(A) 1982 (B) 1990
(C) 1994 (D) 2000
14 (#)INDIRESULTE

71

72

73

74
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What is the expecte a production of pulses
in 2017-18 in Rajasthan ?

(A) 36.50 lakh tonnes
(B) 35.30 lakh tonnes
(C) 36.30 lakh tonnes
(D) 35.50 lakh tonnes

201718ﬁﬂwmﬁara‘raaraﬁmﬁa
S fea ¥ 7

(A) 36.50 W@ =T
(B) 35.30 ®1@ <A
(C) 3630 9T@ =A
(D) 35.50 W@ =

In which year Maharaja Shree Umaid
Mills Ltd. was set up ?

TR N o frew 0. feg o i
o g e ?
(A) 1939
(C) 1991

(B) 1971
(D) 2001

Integrated Watershed Management
Programme has been renamed to

(A) Pradhanmantri Krishi Sinchai Yojana
(B) Mukhyamantri Krishi Sinchai Yojana
(C) Rajasthan Krishi Sinchai Yojana
(D) Rajya Krishi Sinchai Yojana
AR SR USET BEBH W AW
uRefia & & Rar mr ¥
(A) gars iy faarg der

(B) gemh Py Riwng drom

(C) Toryr iy R G

(D) T~g iy Riwd dem
indiresult.in whatsapp - 9352018749

‘When was Drought
Programme launched ?

Prone Area

q@T FIra 8 HUBHH B YT FoTT &1 ?
(A) 1973-74  (B) 1984-85
(D) 2001-2002

(C) 1996-97

[PT.O.
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 (A) Sun

indiresult.in whatsapp - 9352018749

What was the ratio of financial share
between Centre and States in Desert
Development Programme ?

% 9 ¥ e eier o ey W ar?
A) 75 : 25 (B) 50 : 50 -
(C)60:40 (D) 70 :30

Pink Bollworm was in the news recently,
it is harmful for which of the followmg
crops ?

(A) Cotton (B) Sllk

(C) Mustard (D) Apple = -

e qicted! o1 &1 & @ A o, ¥ T
¥ 4 frw wow & oo afers @ ?
(A) HIH (B) ¥ym

(C) uHi (D) 99

In Delhi, from 15t April, 2018 whlch of
the following standard for automoblles
was implemented ? b

foeell § 1 o, 2018 @ ﬁrmrﬁ BE—

o AWE AR & fog @rg g ?
(A) BS-IV (B) BS-V
(C) BS-VI (D) BS-III

Indian Mission Aditya L-1 is related to
which of the following ?
(B) Moon
(C) Mars (D) Jupiter
TR P ey L-1 &1 awey P |
Fafrmae ?

A @ (B) ¥
(C) W D) qwf%f

India's first Bio-methane basedjfb,us was
launched by which of the following Indian
Company ?

(A) TATA (B) Mahindra -

(C) Bajaj (D) Eicher ¢ .-

A % gl SR aﬂaﬁ‘{a T B
(A) T (B) "=

© s | (D) IR

¥YOUR SUCCESS PARTNER
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(#NpiResuLTa
For wholesale price index of Rajashtan,
which of the following is considered as

the base year ?

ToRY™ o1 q7 qa@ie & fWg e
& g omamr oY W St ¥ 7

~ (A) 1999-2000

(B) 2004-2005
(C) 2011-2012
(D) 2009-2010

In which of the following case 'Avika
Kavach Bima Yojna' is effective ?

(A) Unnatural death of sheep

(B) Damage to wheat crop

(C) Accidental damage to vehicle

(D) Domestic loss due to fire |
1 & o fow wu & ‘sifae wag 9
2 LK1 O

(A) %5 & FWPHRkE g

(B) TR @ ®EA B THUN

(C) I & TR gk

(D) & ¥ WY JHAT

By Central Board of Irrigation and Power,
which of the following state's electricity
board was awarded the '‘Best Acting Power
Transmission Utility' in 2018 ?

(A) Meghalaya

(B) Punjab

- (C) Himachal Pradesh

(D) Rajasthan
T s ok S gt d §
frg a0 % foga 9 @ 2018 7 wE
9% BRI UTaT ZAMeH grefare’ JiRpR
fer mr ?

indiresult.in whatsapp

(A) FETeT 9352018749
(B) 4o
(C) feuraer wear
(D) TS
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83 In India, the first "Skill University" was

started in which one of the following

states ? |
(A) Rajasthan  (B) Uttar Pradesh
(C) Punjab (D) Haryana

ARd ¥ 999 ‘Rea fayafmema e o
¥ fow w A g fewr @ 7

(A) T (B) IWX WY

(C) W (D) =famm

Rajasthan's first Mega Food Park was
inaugurated in which of the following
districts ?

(A) Alwar (B) Jaipur

(C) Udaipur (D) Ajmer

TS & Usd A FS Uh P SHEA
e & 4 fow B # foer mm ? .

(A) ot (B) @yt
(C) SeagR (D) &

"Bhairon .Singh Shekhawat Antyodaya
Swarojgar Yojana" will provide loan of
4 to the eligible families.

Iy gfEr B T @ WO WEH
FHaN

(A) 50,000
(C) 2,00,000

84

85

(B) 1,00,000
(D) 1,50,000

Which artist out of the following artists
of Rajasthan is working with designer
vessels made of clay ?

(A) Omprakash Galav

(B) Devdatt .

(C) Kripal Singh Shekhawat

(D) Beni Ram Soni

g d 4 Tom @ E-E SRR
Predt % Roeree i o T T T R ?
(A) SNHUHBIST T

(B) TeEd '

(C) FUME JramEd

- 86

(D) ¥ &R

YOUR SUCCESS PARTNER
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89

190

(A) Ajmer

(C) wiEyT

Which "of the following district of

Rajasthan has 'Peacock’ as the symbol of
the district ?

./'1
@INDIRESULTE

(B) Bhilwara

(C) Dausa (D) Hanumangarh
frer & @ T ¥ HA-d B e
wWCO®? L
(A) arTT
(C) @

(B) Hierarst
(D) sgaETe

What amount is given with the Ambedkar
Mahila Kalyan Purushkar ?

(A) X 1.0 Lakh

(B) ¥ 1.5 Lakh

(C) ¥ 51 Thousand

(D) T 21 Thousand

REHT AT B REBR & 9 QA
W o iy feet ¥ 7
A)R1ow@ @B) X 1.5 7=
©Xs51&m (D)X 21 =X

In which one of the following districts of
Rajasthan, the foundation stone of
"Devnarayan Panorama" was laid by the
Chief Minister ?

(A) Bhilwara  (B) Ajmer
(C) Dausa (D) Bharatpur
T & e § ¥ few e A gers

T gt ST @ R R
o G

(A) HrerarEt (B) s iy
(C) g (D) "L
indiresult.in whatsapp - 9352018749
Country's first 'digital archives' is situated
in which city of Rajasthan ?

(A) ‘Bikaner (B) Jaipur

(C) Jodhpur (D) Udaipur

W @ yaw ffed omeiza’ e
% fou T ¥ Rem ¥ 7

(A) qHET (B) ST

(D) SEagy

[P.TO.
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91  As per Statistical Abstract of India 2007, | 95  Which one of the T lowing cattle product
lin how many States/U.T.'s of India more 1S main product of Rajasthan 9
than 33% of forest areas were found ? .
(A) Meat (B) Milk

(A) 20 states  (B) 15 states
(C) 14 states (D) 18 states (C) Animal Skin (D) Egg

A & Wifegea Taeee 2007 & TR Prefifes oy SOl ¥ ¥ @eer ©
R & o fee et el T B et Ty SR §7

q 33% } ot WM W AW IR W ? ' :
(A) 20 T § (B) 15 <ot A (A) W (@®) (B) @
(C) 14 Tl ¥ (D) 18 U=l & (C) =T (D) @v=t

indiresult.in whatsapp - 9352018749 ' 6:1‘//)'|ND|RESULTE

92  When did 'Mukandra Hills National Park’ ‘ Sy
was given the identity of state's third 9%
National Park by Govt. of Rajasthan ?
(A) 10 April, 2013
(B) 9 January, 2012

Technical report of ground water survey
of 1971 does not include which of the
following district in survey ?

(C) 14 February, 2012 (A) Barmer (B) Jaisalmer

(D) 26 January, 2013 | ~(C) Udaipur (D) Jodhpur

T T T T T S |t o 1971 4 it e
(A) 10 s, 2013 | e 17T T g fiod ot n et
B) 9 I, 2012 ¥ wfe foar wn ¥ 2

(C) 14 wxadl, 2012 (A) BT (B) FEER

(D) 26 mai’r, 2013 (©) TR (D) g

" L " s () : e
93 From which tree 'Kattha" is extracted ? indiresult.in whatsapp - 9352018749

(8) Tea ®) Khej'arl 97 = At which place Tree festival is celebrated
(CiﬂSagH %(D) K hair 39 on 12t September every year in Rajasthan?
Her g | T o #

(A) TOTEE : B) awd (A) Khejdi Village - Jodhpur

(C) T (D) QT (B) Kailadevi - Karauli

? L . (C) Mandor - Jodhpur
94 Which of the following tribe is second in :

population in ' Rajasthan as per 2011 (D) Kolayat - Bikaner
census? o ¥ it 12 fyaaw &) fag @ w
(A) Bhil (B) Meena

‘ ?
(C) Garasia (D) Sahariya 9T g4 ‘4'53'?\“3 HAIT STl 3 7

Wﬁﬁzollzﬁrwm%sm (A) GSE1 IR — SEYT
WW’IﬂI% W"!(‘EW%WWW (B) SRS - wiE

%7
A) 9w (B) o (C) R — g
(C) i (D) "sdman (D) e — SBMT
s+ (#moRESuTE 5 (P10

tPaper(Master)
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The maximum number of trees found
between the height of 250 to 450 m in
the southern part of the Rajasthan are -

(A) Teak (B) Salar
© Dhokda (D) Palash
oA & gl wwr § 250 | 450 Al

% FHars I it e ¥ U oH A
gq ¥ -
(A rEE (B) §WIX

(C) st (D) wemsT

Which type of dunes are found in
Drishadvati river valley in Thar desert of
Rajasthan ?

(A) Longitudinal dunes
(B) Barchan dunes
(C) Parabolic dunes
(D) Star sand dunes

TERAH & U 96d ¥ qUEd T @l
Tl 7 oy wa & Sy @ W i
B E?

(A) Y@@ 1 qgaTgEdl 91 @ WU
(B) SR@M a1 & &M

(C) IEifve a1 # WY

(D) AW G & T

Which is not an ore of Lead-zinc ?
(A) Galena | ’

(B) Calamine

(C) Zincite

(D) Hematite

WS BT SqEh B G Tl 7
(A) &

(B) ST

(C) iz

(D) ¥AIRIEE

YOUR SUCCESS PARTNER
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101 Consider the following pie chart to find
the expenditure on Indian Military if India
had a total expenditure of ¥ 120 crores.

& ™ o O H qEwer ¥ WA 99
F GY T HINT T ARG B FA Gl
T 120 0T B

Others

Military
I i |
59% : |
Venture 9%
Interest on debt International

&I 9 &N

(A) % 66 crores / BB
(B) ¥ 70.8 crores / ®HUS
(C) ¥ 54 crores / HUS
(D) T 72 crores / S

102 What is the angle of elevation of the sun
when the length of shadow of a vertical
pole is equal to its height ?

T & S B T T T TH S
T P WBE B TERE TEH HUE G
TE § 7
(A) 30° (B) 45°
(C) 60° (D) 75°
indiresult.in whatsapp - 9352018749
103 If sin24 = cos(4 —18°), then the value

of 4 is -

If% sin24=cos(4—18°) B T 4 &
LIGER &

(A) 18° (B) 36°

(C) 54° (D) 72°

[PTO.
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104 If the diameter of a circle is 8 m, which

105

106

107.

231 o

@A) 0

length of arc intercepts a central angle of
45° at the centre ?

ok w99 @ @ 8 M. ¥, a9 e
TR BT A9 % YT 45° BT BT ST
HET ¥ ?

(A) T m/T.
(C) 3m m/ 4.

(B) 21 m/#.
(D) 4m m/ 9.

In a data, 10 numbers arranged in

~ ascending order. If the 7th observation

from the beginning is increased by 4, then
the median increase by

TH olilee ¥ 10 dEEel @ omidl wW
X aftag fear mn % 1 it wrow @ 79
H9T § 4 9 ghg @B Ih ¥ TG Afmer
Agae ¥ -

(B) 4

(€) 6 D) 5

The length of the shadow of a vertical

- tower on level ground increase by 10 m,

when the angle of elevation of the sun
change from 45° to 30°. The height of
the tower is -

T B AT B e S fa 0
10 . 3 Wt ¥ 99 g H ITGH B0
45° ¥ 30° & wmn ¥ | TR A Su
? -

A) 5-3-1) m/#.

(B) 13 m /.

5
©) Bom / 9.
D 53+1) m /&

The value of

.c0s0°cosl®cos2°...... cos100° is -

cos0°cosl®cos2°...... cos100° @1
e ? -
(A) 0 B 1

1
© 3 (D)

QleREspLTE
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109

110

111

: sin21°+sin23°+sin25°+

YOUR. SUCCESS PARTNER

(% ULT
(%) INDIRESULTE
In a town number of maternal death is
50 in a year. If number of infants born

in this year was 500, then maternal
mortality rate per 1,00,000 is

frll o & w@ A Wg gy B dEn
50 & | afx 3§ a9 w= fhigel @ dem
500 9, @ W1g gg I wht 1,00,000 ¥ -
(A) 1000 (B) 10,000

(C) 10,00,000 (D) 90,000

For the following data, the mean deviation
from median is

ﬁwﬁf@amas%qmﬁmm%mw
foraew ¥ -

x|2l6}10}14]18
flalel 8512

(B) 3.68
(D) 9.2

(A) 0
(C) 3.84

The value of
sin21°+sin23°+sin25°+ ........
+sin?89° is -

+sin289° AR T -

1
(B) 22‘5

(D) 45

(A) 0
(©) 23

A cylindrical vessel of base radius 20 cm
filled up to a height of 32 cm with juice.
The juice is filled in cylindrical glass of
radius 4 cm upto a height of 8 cm. How
many such glasses can be filled ?

TH SR 949 e emar @ e
20§t § qr TqE 32 AW FUR dF @
¥ 9O gem ¥ | S B 4 i Bom aw
YR el ¥ 8 Wl $UE 9% Wa
9T ¥ | O feee Preme aX ST oued
g e
(A) 20
(C) 100

(B) 50
(D) 120

& [P.TO.
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12 If P(9a-2,-b) divides line segment | 114 In ﬂgure £LXYZ=64° and XY is
produced to point P. If ray YO bisect
£ ZYP, then the value of ZXYQ is -

joining the points A(3a+1,-3) and

B(Sa, 5) in the ratio 3:1, then the values é
of a and b are - : - R A zZX¥Z=64° T xy W g P

R P(9a-2,-t), Mgell AQGary_3) || TP (R o 1o L7vp
W B(8a,5) B Prom A Y@rwwe @ | 7 @ BT E O @ LX10

31%a§mﬁﬁmﬁam% W@al
qm b AN ¥ -

H A & —

(A) a=1 b=3
(B) a=-1, b=3
(C) a=-1, b=-3

(D) a=1, b=-3

113 The two opposite vertices of a square are
(-1,2) and (3,2), then the coordinates | N 5o

of the other two vertices are - (©) 116° (D) 302°

(A) (1,0) and ‘(1, 4)

®) (-1,0) and (-1, 4) Successive discounts of p% and g% are
S ’ equivalent to a discount of

(D) (~1,0) and (1,—4) | oage ¥
I @ (pre)%
Waﬁ%zﬁw@ sﬁuf (_1’ 2) an (3’ 2) indiresult.in whatsapp - ,9352018749

¥, a9 o @ ot % Pdaim ¥ - P ),
, (B) (p+q-100)4
(A) (1,0) wd (1,4)

.(B) (-1,0) T (-1,4) | © (_____1_66__) .
© (1L0) T (-1,4) |
©) (-1,0) T (1,-4) D) (%‘i)%
=14 (i 8 [PTO.
+ () INDIRESULTE
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120 The mean of 13 numbers is 24. If 3-is

¥ 4,000 was divided into two parts such
a way that first part was invested at 3%

and the second at 5% per annum. If the
whole simple interest from both the- |
investments for one year is X 144. Then |

the amount of the first part is -

?4oooaﬁa‘rwﬁﬂrsamamwr
%5 OB AT @ 3% AT THL AT @B 5% |

e =t e q¥ A e smar ®) aflk

‘ﬁﬁaﬂﬂwwaﬂfmmmj
¥ 144 ¥ o uge W @ AR ¥ - |
(B) T 2,800 :;:

(A) T 2,700

(C) T 2,500 (D) T 2,400

A man spends 75% of his income. His

income increases by 20% and his|
expenditure also increases by 10%, then
the percentage increase in his savings is - |

T ARR AT T W 75% G @ |
T | SEW oM 20% AT |G 10% Tl |

AR R

(A) 10%
(C) 25%

(B) 20%
(D) 50%

The ratio of an external angle and an
internal angle of a regular polygon is 1:5.-|
The number of sides in the polygon is -'

Th GHEENS % UH SR ad T

ST T AT 1:5 % Iagﬂvrﬁgwaﬁ

B e ¥ -
(A) 12 B 6
(€) 8 (D) 10

The mean deviation from the mean for

the following marks is —

ﬁﬁnﬁmﬁwméwﬁw%—%
37, 48, 50, 23, 47, 58, 29, 27, 31, 40

(A) 9.5 (B) 9.6
(€97 .. (D) 938
INDIRESULTE
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123

121

@mwﬁgsug@

added to each number, then what will the
new mean: ?

13 GETal %l 71 24 ¥ | aft v gen
¥ 3 vie Ry o & = Aeg gew -
(A) 24 (B) 21
(C) 27 (D) 25

Volume of a cone is 16632 cm3 and
height is 9 cm. What is its base radius ?

(m=22/7)

(A)36 cm ~  (B) 42 cm

(C) 49 cm . (D) 48 cm

TF F B SMEAT 16632 W ¥ &R
T 9 W ¥ 3EE emur @l B wa

¥? (n=22/7)

(A) 36 99 (B) 42 ¥

(C) 49 §W (D) 48 9

Volume of a cube is 1282 cm3. What
is: the area of one face of the cube ?
(A) 32 cm? (B) 16 cm?

(C) 40 cm? (D) 48 cm?

TH T OB omaaT 12842 ¥ ¥
U9 % Uk Goh B GhA T E7
(A) 32 G2 (B) 16 &2
(C) 40 q2 (D) 48 T2

PQ is a straight line of 13 units length.
If P has the co-ordinates (2, 5) and Q has

the co-ordinates (x,—7), then the value

of x is §ndiresult.in whatsapp - 9352018749
PQ ua Wiell Y ¥ Rrael o 13 o

T 13k frg P % Téams (2, 5) dum Q

& e (x,-7) TR xH AR ® -

(A) -7 B) 3

©) 13 D) 7

[PT.O.



indiresult.in whatsapp - 9352018749
124 Which of the following points lie on

x-axis ? '
frafeRea & @ @ @1 Ry x—o@ W
Rag & ?

A) 2,2 (B)(0,-2)
O 2 2) D) (=2, 0)
125 If the co-ordinates of three vertices of a

square are (0, 0), (0, —4) and (4, 0), then
the co-ordinates of its fourth vertex is -

ok s o F I A % P
(0, 0), (0, —4) T=T (4, 0) ¥, T T&> B
ofd @1 Prdstis ¥ - |
A) @ 4 B) 4, 9
©) 4, 4) D) 4, 4)

In the given figure, if BD|RS||PQ,
CP=PD=11 cm, AR=RD=3 cm,

BD=x, RS=y, PQ=z then the ratio
of values of y and z is

126

frg m R ¥ AR BD||RS||PO,

CP=PD=11 &0, AR=RD=3 ¥,
BD=x, RS=y, POQ=z, A yqa z %
Y BT STU ¥ -

(A) 6:11
©) 1:1

(B) 3:11
@) 122

”
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1129

130

131

©) 8
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The diagonal®™=4F 'a rectangle ABCD.
intersect at O. If £ BOC =68°, then
£0DA4 is -

% ST ABCD % Rt O W ufred

®W@ T 1 £ZBOC=68° 99 ~ODA

¥
(A) 45° (B) 56°
(C) 68° (D) 22°

How many straight lines can be drawn
through four distinct non-collinear points ?

TR = ortdg figelt @ faastt @
tad did o wed ¥ 7
(A) 4 (B) 6
(D) 12

The single discount which is equivalent
to discount of 10%, 20% and 25% is -

T g2 (@) T f6 10%, 20% a1 25%

W FH WAGH T -
(A) 55% (B) 46%
(C) 54% (D) 45%

A 'sum of money doubles itself in 5 years
at compound interest. It will be eight.
times in -

(A) 10 years  (B) 12 years

(C) 15 years (D) 20 years

uh oF i wwghs = ¥ S5 99 A
270 ¥ WR ¥ L TE 8 T E -
@A 10af ¥ (B) 12 a9 H

© 15949 (D) 2079 #
indiresult.in whatsapp - 9352018749

21% of a fixed number is 28, then 15%
of same number is -

TR Proa g @ 21%, 28 ¥, 99 SHI

dem W 15% ¥ -
@A) 18 (B) 20
© 21 (D) 24

[PT.O.
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The ratio of the length and perimeter of
a rectangular plot is 1:3. What is the ratio
of the length and breadth of the plot ?

T HIATBIR @i P TR a9 IRy
B AU 1:3 3 | i B TEE qgr den
@B STIUR T T ?

(A) 1:2 (B) 2:1

(C) 3:2 (D) 4:3

log,axlog.bxlog,c is equal to
log, axlog, b xlog,c T ¥ -

(A) logabc  (B) abe

1
© — (D) 1

The quadratic> equation with one root

(¥5+2) will be -

o wieor et @ qw (V5+2)
3, B - | -

(A) x2+25x+1=0

B) x?-4x+1=0 /

(C) x2-4x-1=0

D) x2-25x+1=0

If the sum of three consecutives multiples
of 13 is 390. Then second multiple of 13
is -

A 13 & BT AW et @1 T 390

oA 13w g o -
(A) 117 (B) 130
© 143 = (D) 156

(#)WoiresuLTg

S PARTNER
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136

137

138

139

@
Factorization of /ig
[xz +(a+b+c)x+ab+bc] is

[xz +(a+b+c)x+ab+bc] Cog

TUTEIS ¥ -
(A) (x+b)(x+a+c)

®

(

(x+a)(x+b+c)
©€) (x+c)(x+a+d)

(

(
(D) (x+b8)(x+a+b+c)

The square of 50005 is -
50005 & o ¥ —

(A) 2500500025

(B) 250050025

(C) 2500050025

(D) 2505500025

The value of (857375)1/3 is -

(857375)° @1 W= ¥ -

(A) 95 B) 85
) 75 (D) 65

indiresult.in whatsapp - 9352018749
Mohan bought two cows in ¥ 30,000. By
selling one at a loss of 15% and other
at a gain of 19%, he found that the selling
price of both cows is the same. The cost
price of both the cows are -

T % T30,000 ¥ & T @O | wH
Bl 15% T 99T @Y &1 19% @19 § <[
W s g fe 3 & faee g
I ¥ | A4 A T R ¥ -
(A) T 17,500, T 12,500
(B) T 15,000, T 15,000
(C) T 18,000, T 12,000
(D) T 20,000, T 10,000

[PTO.
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140 The circumference of two circles are in

141

142

the ratio 2:3, then the ratio of their areas
is

2 et 2 TRy a1 o 233, @ T

GERSIRE AR I
(A) 2:3 (B) 3:2
©) 94 (D) 4:9

A spherical ball of diameter 21 cm 1s
melted and recast into cubes, each of side
1 cm, then the number of cubes thus
formed is -

21 ¥ =E B UH N A5 B R
T qer 1 & foeer At we A g e
T, 99 39 Wk §9 A P W& ¥ -

(A) 2100 (B) 4200
(C) 4410 (D) 4851

Which of the following pair of equations
has no solution ?

(A) x—2y=0 and 3x+4y-20=0

(B) x+2y+1=0 and 2x+4y+2=0
(C) 2x—y=0 an& x—2y‘=0 |
(D) x+2y—-5=0 and 2x+4y-12=0

frer e g ¥ ¥ R g % Rio
w fremm oW ¥ ?

(A) x—2y=0 8T 3x+4y-20=0
(B) x+2y+1=0 3T 2x+4y+2=0
(C) 2x-y=0 8T x-2y=0

(D) x+2y=5=0 &NT 2x+4y—-12=0

INDIRESULTE
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In figure, ABCD is a cyclic quadrilateral
in which 4C and BD are its diagonals.

If « DBC=55° and £ BAC =45°, then
£ BCD is

= 4 ABCD w& T agyw @ e
AC & BD z@d fgwet ¥ 1 3R

£ DBC=55° U1 L BAC=45°, 7
/BCD & - :

(A) 100°
(C) 35°

(B) 80°
(D) 45°

If AABC=AEFG and AB=EF, then
the values of x and y are -

U AABC=AEFG T AB=FEF T8
x49dy A9 % -
indiresult.in whatsapp - 9352018749
E

—

22

D

C @G E

y+2X

10x-y

A) x=1,y=1 @B) x=4,y=1

(©) x=Ly=4 (D) x=1y=3

[PT.O.
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146

147

23] ufa

@A) (0,2) (B) (2,0

©) (2,2) D) (1,1)

If ‘g#%:%, then thé value of Chdiad
is - ‘

a b ¢ a+b+c
w3555 ¢
A) 3 (B) 5
© 113 ®) 15

indiresult.in whatsapp - 9352018749

The co-ordinate of point p which lie on:
y-axis and distance of 2 unit from the

origin (0,0) will be -
&g p & s S y-8 X R ¥
aar 7w fag (0,0) ¥ 2 3 g wx ¥

Sum of length, breadth and height of a
cuboid is 20 cm and the length of its

diagonal is 6./ cm. Its total surface area
is -

(A) 216 cm?

(B) 616 cm?

(C) 184 cm?

(D) 246 cm? , _
T% 99 % WA, OIS qu1 $u @
A 20 AN ¥ T gEd Ryl B v
;JE &% ¥ | 5% Tl gl e deew
(A) 216 &2

(B) 616 &2

(C) 184 T2

(D) 246 &2

INDIRESULTE 23
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148 If log;, [log2 (]og 4 x)] =0, then the value

149

of x is -

afs logy, [log2 (log4 x)]: 0, a x & "
. .

A) 4

(C) 80

@) 8
(D) 16

Raj started a business with T 37,500.
After some time Umed joined the business
with ¥ 50,000. After one year they shared
the profit equally. Find after how many
months Umed joined the business.

(A) 3 months

(B) 9 months

(C) 4 months

(D) 8 months

T T 37,500 % T TH AN Y6
a1 | B THY YA W T 50,000 %
1Y =9 A Qi & T4 | T a9y yeen
G W B gOaX | A wfer | wawd
o9 fha WM AR AR § e gen
ar 7 ' .

(A) 3 A1

(B) 9 W&

(C) 4 wE

(D) 8 Ht®
indiresult.in whatsapp - 9352018749

| 150 A man bought 3 toffees in a rupee. How

many toffees in a rupee must he sell to
gain 50% ?

% Al 7 1%, ¥ 3 Afteal wlidi | 4w
1%. & feaet fear 99 5 38 50% @9
a7
@A)l
) 2

B) 1.5
(D) 2.5

[PTO.
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